
Assessing IT Project Risk 
 
 
Assess the risk level associated with each of the following 8 IT initiatives, on a 1-4 scale, 1=lowest 
risk, 4 =highest risk. 
 
The Setting: A $6 billion global company. 
 
 
 

# IT Initiative Risk Level 
1 = lowest 

4  = highest 

   

 
1 

a $100,000 employee benefits 
system that is essentially an update 
to the existing system 

 
______ 

 

   

 
2 

a $100,000 employee benefits 
system that is the only open-source 
project in this company 

 
______ 

 

   

 
3 

a $100,000 order-entry system that 
is essentially an extension of the 
existing system 

 
______ 

   

 
4 

a $10,000,000 global employee 
recruitment system that is 
essentially a global extension of the 
existing domestic system 

 
______ 

 

   

 
5 

A $200,000 sales forecasting 
system using cutting edge, state-
of-the-art modeling techniques 

 
______ 

   

 
6 

a $5,000,000 after-sale customer 
support system using cutting 
edge, state-of-the-art networking 
technology 

 
______ 

 

   

 
7 

a globally coordinated 
$15,000,000 order entry system 
built on the existing H/S platform 

 
______ 

   

 
8 

a globally coordinated $15,000,000 
order entry system that utilizes 
localized websites 

 
______ 

 

   

 


